
07

10

05

47

01

06

09

08

02

13

15

14

60

42

44

24

41

43

45

38
37

40
26

23
34 35

3662

61

12
11

15

16

17

03

04

18

19

20

32
33

49

64

25

23

23

24

22

27
28

29
21

65

31

66

58

67
52

51

54

55

56
57

53

24

50

26

30

39

63

56
59

46

48

NO PART QTY DESCRIPTION
01 S25101X 1
02
03
04
05
06
07
08
09
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34

XL25A฀-S Engine Exploded Parts View
400160 1
28110 1
S25210 1
S32109 1
S32225 1
S32219 1
30220 1
40221 1
S25204 1
28207 1
28209 1
S25201 1
S25202 1
S25112 2
S25103 1
12122 6
30111 1
S25102 1
12126 2
S25870 1
S15114 1
91137X 3
12114 3
46871F 1
12847 2
12830 1
12833 1
12845 1
S15829 1
46407 1
15130 2
12123 2
S25827 1

1x4
61901

12x24x6

9x20x6
619/9Z

M2.5x12

M2.5x6

M3x3

1/4"-28

M3x3
2.5

M2.5x10
67
66
65
64
63
62
61
60
59
58
57
56
55
54
53
52
51
50
49
48
47
46
45
44
43
42
41
40
39
38
37

1S32868F36
DESCRIPTIONQTYPARTNO

35 S15828 1

S15814 1
40845 1
S25844 1
S25813 1
12812K 1
12811K 1
46825 1
E36816 1
E36119-I 1
E36119-II 1
E36119 1
21123M 1
S32872F 1
S25602 1
91137T 1
32616 1
S25615 1
E36611 1
S25603 1
80841 3
12118 1
S32609 1
28120 2

S25601 1

S25203 1
S25801F 1
S25863 1
S25810 1
S25874 1
S25873 1
S15861 1

M2.5x14

M3x114

26x0.8

3
M3

M3x30

TXP  20090425

5x1.5x41

11x1

1.9x1.3

3x1.3

M5x0.5

01 - S25101X  
02 - 400160 - 1X4
03 - 28110 -  12X24X6
04 - S25210 
05 - S32109 - 9X20X6
06 - S32225  06 - S32225  06 - S32225  
07 - S32219  07 - S32219  07 - S32219  
08 - 30220  08 - 30220  08 - 30220  
09 - 40221 - 1/4”-2809 - 40221 - 1/4”-2809 - 40221 - 1/4”-28
10 - S25204  10 - S25204  10 - S25204  
11/12 - 28213  11/12 - 28213  11/12 - 28213  
13 - S25201 13 - S25201 13 - S25201 
14 - S25202 14 - S25202 14 - S25202 
15 - S25112  15 - S25112  15 - S25112  
16 - S25103  16 - S25103  16 - S25103  
17 - 12122 - M2.5X1217 - 12122 - M2.5X1217 - 12122 - M2.5X12
18 - 30111  18 - 30111  18 - 30111  
19 - S25102  19 - S25102  19 - S25102  
20 - 12126 - M2.5X620 - 12126 - M2.5X620 - 12126 - M2.5X6
21 - S25870  21 - S25870  21 - S25870  
22 - S15114 22 - S15114 22 - S15114 
23 - 91137X 23 - 91137X 23 - 91137X 
24 - 1211424 - 1211424 - 12114
25 - 46871F - M3X325 - 46871F - M3X325 - 46871F - M3X3
26 - 1284726 - 1284726 - 12847
27 - 12830 27 - 12830 27 - 12830 
28 - 12833 28 - 12833 28 - 12833 
29 - 12845 - 3X1.329 - 12845 - 3X1.329 - 12845 - 3X1.3

30 - 15829 
31 - 46407 - M3X3
32 - 15130 - 2.5
33 - 12123 - M2.5X10
34 - S25827 
35 - S15828 35 - S15828 35 - S15828 
36 - S32868F
37 - S15814 
38 - 40845 - 1.9X1.3
39 - S25844
40 - S25813 
41 - 12812K 
42 - 12811K - M5X0.5
43 - 46825 
44 - E36816 - 11X1
45 - E36119 
46 - E36119-II 
47 - E36119 
48 - 21123M - M2.5X14
49 - S32872F - 5X1.5X4149 - S32872F - 5X1.5X4149 - S32872F - 5X1.5X41
50 - S25602 
51 - 91137T 
52 - 32616 - M3X114
53 - S25615 
54 - E36611 - 26X0.8
55 - S25603 
56 - 80841
57 - 12118 - M3

58 - S32609 
59 - 28120 - M3X30
60 - S25203 
61 - S25801F 
62 - S25863
63 - S25810 63 - S25810 63 - S25810 
64 - S25874 
65 - S25873 65 - S25873 65 - S25873 
66 - S15861 
67 - S25601 

PaPaPart “Sets” 
S25416 Gasket Set S25112(2)30111(1)S25416 Gasket Set S25112(2)30111(1)S25416 Gasket Set S25112(2)30111(1)
S25901 Screw Set 12122(6) 12123(2) 12126(2) S25901 Screw Set 12122(6) 12123(2) 12126(2) S25901 Screw Set 12122(6) 12123(2) 12126(2) 

Magnum XLS 25 Two Stroke
Exploded View


